STEPLI TT  [SLOOLOSY [SLO 10089 [SLS 6.8 06 |STE ISE VST [SLO €8T LLT |SLY 06T 00T [SLS 98% T8T [€1¥ T9L 961 |01 6 80T uasazssg 39sPazaaI0N 43T v
STEVLIT  |SLO9LOS [SL91008 [SLS6L80T [STEISE ¥ [SL0€8TLL [SLb 06T 0T [sLs98vTe  [€1v29L91  [101 v66 8 Yo3asnezolny q2437| ¢
000 000 0% (000 000 0% |000 000 OF epueEByueg| 7
000 000 0Z (000 000 0¥ [000 000 09 (000 000 08 [000 000 00T 000 000 0TI 000 000 OFT [000 000 09T 000 000 0ST 000 000 00Z YoPuH 1
0£0 T 670 T 870 7 L7107 920 T ST07 Y70 T £207 20T 1202 s9z34du3a | "Z810§
3[2398))92212)0 3]

L

WBPiRIeW Z8'6

19-0josgpen] oaul [esspreyny| saA3 qqe) &

SYLV.LNIAD




